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Instructions:

(i) Read all questions carefully and answer accordingly.

(i) Question paper consists of 3 parts.

(iii) Scientific and non-programmable calculator are permitted.

(iv) Do not write any information on the question paper other than Roll Number.

1.

2.

PART A

ANSWER ALL THE QUESTIONS (10 X1 =10M)
Operations Research uses models to help the management to determine its scientifically.
a) Policies (CO1) [Knowledge]
b) Actions
c)BothAand B
d) None of the above
There is a great scope for working as a team to solve problems of defence by using the
Operations Research approach.
a) Economists (CO1) [Knowledge]

b) Administrators
c) Statisticians and Technicians
d) All of the above

Operations Research techniques helps the directing authority in optimum allocation of various limited
resources, such as

a) Men and Machine (CO1) [Knowledge]
b) Money

¢) Material and Time

d) All of the above



10.

1.

Which technique is used in finding a solution for optimizing a given objective, such as profit
maximization or cost minimization under certain constraints?

a) Quailing Theory (CO1) [Knowledge]
b) Waiting Line
c)BothAand B
d) Linear Programming
Graphical method can be applied to solve a LPP when there are only variables.
a)One (CO1) [Knowledge]
b) More than One
c) Two
d) Three
An optimal solution is the stage of a solution obtained by improving the initial solution.
a) Third (CO2) [Knowledge]
b) First
c) Second
d) Final
An objective function is maximized when it is a function
a) Passive (CO2) [Knowledge]
b) Profit
c) Cost
d) None of the above
For solving an assignment problem, which method is used?
a) Hungarian (CO2) [Knowledge]
b) American
c) German
d) Both are incorrect
The solution of any transportation problem is obtained in how many stages?
a)Five (CO2) [Knowledge]
b) Four
c) Three
d) Two
If demand is lesser than supply then dummy demand node is added to make it a
a) Simple problem (CO2) [Knowledge]
b) Balanced problem
c¢) Transportation problem
d) None of the above

PART B
ANSWER ALL THE QUESTIONS (3 X 8 =24M)

What are the main phases of operations research? Explain Briefly.
(CO1) [Comprehension]



12. Find the initial basic feasible solution for the TP by any two methods of your choice.

13.

14.
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ANSWER THE FOLLOWING QUESTION

(CO2) [Comprehension]

Using Hungarian Method, find the optimal solution for the given assignment problem.

(CO2) [Comprehension]

(1X 16 = 16M)

Briefly explain the formulation of Linear Programming Problem using Graphical Method.
Maximize Z=5x+4y

Subiject to the constraints
6x+4y<24;
X+2y<6;
-X+y<1,

y<2;

where x =20,y =0.

(CO1) [Application]



